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1 AP AHel

WMol oX|7F /JUESLICH There is room for

improvement & room(™X|) 90| a L the &

o £

Hell =40 S2IBLIC} | agree to terms of the

deal

HE GAAZ  =HEZ2 IEELCH  The
possibility to make a deal done is remote=The
chance to close a deal is slim(=small) & make a
deal=close a deal=cut a deal=strike a deal &l
StCt. EFASICE. A2 ©elE St (reach an
agreement (0f]) Let's make a deal H2{E EtZE

AlC}



Adah) glel =0 2X|0f Don't come back
without result! =Don’t come back with empty
hand=Don't come back empty-handed (1)
without result=with empty hand=empty-handed

da glo], gl £e=

Z2uE Mg Z42It EASLCE 1 am
prepared to deal with the consequences of that
& be prepared to do FAS & 27t £/ QUL
deal with someone/ something 1) F+72 CH
Stct,  ZHelstck 2) FAS AMElSiCh,  CHRCE
=handle (deal with £5|] 2%t %0{. F=H &

)

2 SdA717] {8 2 20| EOF We should
(6]

do so much to improve our results

2=, O|#Ho= W XHOKAS: 2= &2 LI
HO{2t0) 2E A2 W7t XM2| S{OFZr 3ff Finally,
the ball is in my court and | have to deal with

everything & The ball is someone’s court O
o= &2 X&folct



o7t g7l &F MO YUUCH  Thats

handsome offer @& (1) handsome 2%} 7HX|

A et/H2) (01) handsome offer/gift (F
2) handsome I 2, &gsho|d/a@g/aY) (02)
handsome profit/fee/s m (53) handsome FHA}7}

8 71=good-looking

3 HZjoM MY SSAT BFES A et
OFX[at 2kolof O|2E& ZAO|AELICH The most
difficult part of the deal was that | had to reach
a final agreement with negotiation counterpart
(1) counterpart 1) Y3t X|¢Lt 7|sE HE=
SO, the Ao A= AHE 2) B Hl. siT
St= ACHe, MCH B (Of]) USA's secretary of
state is the counterpart of our foreign minister
oj=e o8& &2 L9 FEoa Z2 X
iol A= AHHOICt counterparty ZHEH HXY
Ak SARHEE E©E 80) (F2) g dU=
negotiation counterpart 2t 3}H negotiation

counterparty 2t SHX| %S



HZ|o XME3ts Fo| S4: the A XYF

(BX)

oo Zx=5t7| floiM EE HUS o
d27t Bo| UA=H, 3 J9f o ZtA gHol
"The &AL Z[AZ0| “ | have seen in my life &
= | have heard in my life === | have done in
my life"(li7t OIEfA & A &, S0 A &, df
= A T HY FA ot AHE AL o|E S0

2H

She is the most beautiful woman | have seen in
my life W7} OEiA =2 OXI SOoA 1 OX}7}
MY of it

This is the best thing | have done in my life OfEl
A e A SO|M oo oF Ao Xz F ot

0|0}



This is the biggest fish | have caught in my life Of

WA &2 A & 7kg 2 =22710F

This is the worst joke | have heard in my life 0}
EiR S0 = A SoM 7P Mo|gls SEOlok

N

mn

2|12 the most DEAIER XtF MO|l= A 0
E.

I

MUl

The most critical issue is... 7}%& =XICisE O|F+=
Zaio|ct

ol
AL
32
i

The most exciting moment was... 7+
{2 29 O|ALCE

The most expensive deal was... 7+& ZtH|M 72j
=. FA0|ACt

—_

The most important part of the business is... At¢
of QU 7t FQs A2, (O)) The most

important part of the business is keeping the



customers satisfied AFZEO AN 7t Qo A

= 1HS AKHA TUEFAZ|= Ao

The most significant thing is... 7t& 8% A2
Fod0|Ct

The most surprising thing was... 7t& =2tgH

A2 FAOIAUC

=1 & AHe2ll= QIELICE | don't do much

business with them

7902 2% THAICtH Let's shake on it (F1)
shake on it 2|5t =3It (Of) | agree to the
terms of this deal, so let's shake on it. A2 =
Of g st 22| 7|92 A+ AC (F2) Let’

s shake hands 2| 2==oIAHEEIE HH)

=X st A ESLICH | just want to go
through with it (1) go through with something

de €2 7K SHUCH (F2) go through &



QO LIREX|H ChA| ZEm3HR 1) Bujct 2) 2
S3ich AT 3) BHIC 4) M2 A=)
(YLt SR8 XS MOiM E B M SEA o

7| Zx)

o ofF ZYUChE AFFYUCLH | am

very tough on negotiations

H Al SZF XI-M of2AH &S EEX| Of
= A2 Aot ArY A2l A YLILE Knowing
how to negotiate a MEET-IN-THE-MIDDLE
compromise is the key to smart business
dealings & meet in the middle 1) SZH0|A TtLt
C} 2) gelstiCt

CHAO| Bt= 7t 2 160201 Y7t = 7t
A2 1508 0|4 &7F MM o FA|CE 155&

7
2 O{EELI7? Your offer is U$160 per ton and
my counter-offer is U$150. So, let's meet in
between. How about U$155? (1) In between: &
ZHOIA (OdI1) Your offer is U$ 6 per piece, and

mine is U$ 4, so let's meet in between to finalize



the deal &40 X1|*|°PE t7t= 6 (0|1, Lt
= 4ZZO[L] FZt 7t4¢ sEE=ESta AdE
&X7|2 THAICHOI2) There must be 100%
success or 100% failure. There's nothing in
between 2% FGZO|L} 2H AmjE, 0 0]
2 glof

OIS =85 7|20 28 dAZE AU

am going to make a last ditch to make a deal
done (F) ditch B2 last ditch=final attempt
OFX|8f =&, X2 S5 make a last ditch =

o =& ottt OHX[E A[=& oitt

QHLEA HE7LRIELICEH Nice meeting you! =Nice

to have met you!

2202 SO0ZAIL} Let's get down to business
=Let's get to the point=Let's cut to the case (1)
Let's get down to business. Let's get to the
point 7} § XIF A8 (F2) Lets talk about
business AI® O|OF7| BHAICH (F3) Let's not beat
around the bush 22| =2{A Of7[5X] RrA|CtH



beat around the bush =2{A Z3}LC}

S Ut W o=
L{77t? My guess is we
will not get more than U$40, but you never

know & You never know=Nobody knows=We

have no idea=Only God knows Ol2E ZZ2& A
Of

ALO CHSH LHZF O[oF7| otH = F't ObELICE
(A 2SHA o=/ LICH When | say business,

| really mean it (%) I really mean it=I am
serious o ZIAO|OF. o AZts)

ALl AN Bt 20 EFE He MEIQ Z
2 ZIYLICt Shaking hands in business means
stamping on hands, which is something like

trust.

MEZ 7142 dzsi EZ&ELCH | will come up

with new offer & =& | will think about new
offer2 Y= =



M22 342 MAIS] 37| HHELICH | want you
to come back with new number & | will get back
to you with new number MZ2 ZHZ 7tX|2
ChAl 2= =[RS LI

Mz g2 FESIM 2ol FAICE  Let's
compromise at 50/50 (F1) & &0 0| ET
140=0f offer& F=Ol =0 13020 counter-
offerg MA| A2 4% &O| Let's compromise at
50/50 2t Of7[5t0 13520 | EXtnd e
dR0 Z(F2) e S8 dOoM 2ol ALt
Let's compromise somewhere in the middle of

the prices

A2 o8l = A YULMF, M2 St dL7t?)
Do we understand each other?=Are we on the

same page? & understand each other XO|L} Of
=0 M2 SoItf

Mo XEsl= Ho| Z4! 8: the same + HA}
&® Yoo = the same + "Al(page, boat, side,



language, voice)
ol FHHE0| 9

M=

AFB8IM X meA ol
=

A e

Al Hal s o2

=
Ch. =g #Ho Lt o
=59,
I think we are on the same page L 4Zt0j
fEle M2 &9 8 A ZOoF @ be on the
same page THE|D QA= YOIt FH|HALO
CHsif olsistm S2|5iCHto understand and
agree with what is being done or suggested)
We are in the same boat 22| #2 %0|0}
@ be in the same boat Z2 A%, &%, XX|of
=SO0|C}

We are on the same side RE|l= Z2 HMO|of

@ be on the same side Z2 Tof| QIC}

We speak the same language 22|& o] X
Sl & speak the same language 2|7, To| &

Sottt


http://www.macmillandictionary.com/dictionary/british/understand
http://www.macmillandictionary.com/dictionary/british/agree
http://www.macmillandictionary.com/dictionary/british/suggest

We spoke with the same voice about the new
business plan 22| ME2 A A= clisto
22 odS HAKEY: 22 F2EF HALH
@& speak with the same voice=speak with one
voice SH7IX| EYE o|AE HSICH

Ol&fx] 2ot ogE 02| o5e FHE St=&
Sl! Be prepared to expect the unexpected! &

unexpected F/O|& situation == matter

ojd =4 T Fo AHojof st Sast ¢ YL
Cl We are talking about million dollars of deal
& YEtHE O = talk about someone/something
TOl/FH0| TSt Of7|StCh OfX|2F, we are
talking about something 2 It is about
something &&= It is a case of something 1} &
XeE » ojd Fdo| et Zojofr & F=

M 2= 285 olct

met rjo

At 22| HRObAM AHz{of =olsiAM  SARAIZAICH
OK! Let's sit down, make a deal and get it done
& get it done 25| ELHCE EOHX[Ct (of]) |



will get it done by tomorrow LU 77}X| E0OtE

A

Mo 2L I™Ee2 O Hele 2|7t s
LIC} The deal seems to make sense both

strategically and financially & make sense Y|

7} QUct, =2|7F %Chol) That makes sense 17
U7t A= Ho|of

gelld 7kA0] & A5 2RO SFoittn A
Z}SLICH | believe that the concluded prices are

fair to both parties

ox
ot

ot =Xl= 37 & = XD AMES2 5 L
X 6 HME ALO|YULICE It's difficult to release
exact figures, but increase rate will be
somewhere between 5 and 6 percent &
somewhere between A and B “A2} B Al0o| 7t~
(Htojoe} 7t uHln Alojl £9| Bo| 20|z &H
2) (O) The price may be somewhere between
U$130 and U$135=The price is anywhere

between 130 to 135 dollars= The price will be



U$130 to 135 somewhere in there 7}43E 1308
Ol 1352 ALO| ¥ L|Ct
240l oW O AZ SHUESLICH If the

A
condition is OK, | will go ahead with it

XEeelof CietE A2hks o3 0[ At ELICt
The hope to reach final settlement has been
faded away & fade away At2tA QIO{X|Ct

A F07ts AA/EA

Old soldiers never die; they just fade away =32
ZX| QT CHOF AL2HE 20|Che25 MM mf oot
G 20| 3 HO)

Etgdoi 7|20 & FSULH | am happy to

compromise and meet in the middle



best price |1 74

black market- value A% 714

book-value &&E7}4

bottom price=rock bottom price %X 7tZ(rock
bottom @ RHEFO|, &K 9),
ot

compressed price ZH0bM 2=E 744,

discounted price=reduced price=bargain price &

elEl 7t4

extremely high price & HI# 744

factory price &% 74

fixed price 1787t4

market price AlS 7+



net price 37t

reasonable price f2|XQl 7+4

retail price 200 7+4

special price £¢ 74

wholesale price =0f 7+4

ot

workable price &, &d2g = U= 7t4

2 713 g2 W M5 uY

Jh7 Q1A BRI IO &43H0F SLICH We have

L

to address the price increase & address = ™
AoICt of RE AX|T o7[M= EHsHZE =

TotL}, xF 20|z F8 SAt

M4 =2F & o]7F J}= AU Is there any



room to negotiate the price? & room = 0|z}
SZO[X[2E, business BO{0M= o7, OfX| 2t

XO2 MO|= Fa%t At

rr rr

7tA4E oy %E = ASLI? How low can

71F4g =3 WOIFH, 22| s hSXL
= U= A2t =ML If you come down
on your sale price just a little bit, I'm confident
that we can cut a deal, so let's cut a deal & cut

a deal=close a deal=make a deal=strike a deal
HelE OISHCHELE. A8 e OFF £

7tA0| A% Sletsta JSLELH Prices continue
fall  =Prices are continuously falling(=going

down=dropping)

tA40] HE =guUcth © HE F7b isUCt
The price is too high. | cannot sustain ()
sustain S X|8tCH  ASZsicH &1 ZAC|CH

sustainable 2tZ0| Ifu[Z|X] D HXHE = U



Jh740| W= ojoto| EICHE OfF EHALICH If

the price is less U$100, | would be very happy

k40| &glo] FHXD JUELICH The price is
crumbling & crumble HFAZX|CH (Of]) That's the

way the cookie crumbles M|&At7F CF 1 AHOf

HE HHE: M8 Tt =
NI

2t Ogfe o o: Folglst  wXfoiA
"That's the way the cookie crumbles"2t= E?_i%
HiZl =0, 3 <=2 "MY2ARZE OF Zel, M4
=t Cf O AHOp" (X7t o 2oz 4| X|
=X OrR = & = g7 M&o)2t= AOX|2F A
Mz EX7F MEAE 32 R H ‘P_f EHao 2

slg{ O HEHECHs “That's life” "That's the way

nwn

gofof]l AZtE &

ro

it goes""That's just the way it is” "That's the way

it is supposed to be" “That's the way the ball

n CCL n

bounces” EE= "Nobody knows what's happening



in the real world"& E¥ A3 MCh= AMEO|CEH
ol 5 &0 A M 7 = 22 2<*c d Al
LS EXSoF BHCE & F2 5Lt AL HlE 0
2t AlZbE EXpofiof TtCh= Zo|ck. de2iA

XM= EXIES Qs Lo of 2% Opch e
HEgtAiaL HafA o migtM o 3o AHS Moz

o] Mz3 el ZAo|ct.

Key Word: Life(2/ )2 W= EES

eldol= 7[==0[ UA7| OrEHO[OF There are ups

and downs in life

olMojl= WA= QICt There are no ifs and buts
in life @ ifs and buts 4. A (RN if 7IHS
St 7L, but SHX|ZF st 0|2 H|7|gEh

0

QUM BIIE HAT O KU AR J|BS

[ a7 =2
2] A

8 = U0 Achievement provides the only

pleasure in life



A% |+ HO|OF Life goes on=This is the

o
life (3F) Live and learn: 22§ &1 & 0|0f

OIM2 A& E|0jOF s(FEx ZE7|E AZ = 20)
Life must go on=Life must move on (5) Show

must go on &= AL ZIAHOfF i

olMe AH=2If2 =[= Al OfL|OF Life does not

work out according to the plan

e
>~

A

rlo

2| 2x8t HOF Life is so complicated

o2 HoA ¢ =EkES ottt O =Lt Life

gives you always one more surprise

M2 E7tALel Bt AHOF Life is something like
mystery & mystery =7tAFO]

olMo =RMWs| UUlE Sometimes life is unfair

Cll2 =7 &2 7O} Life is something like



mystery

ro
=
rlo

A=0|OF Life is play

ro
0=
rlo

SFMEH Life begins at 60

o
0=
rlo

ot

beb et I Olok B EE AlZS

| —

7{0F Life is not always smooth. |

Ho o

]
=

b

learned from the tough times

ro

402t Cf & 7Oof o 2 Masta O
2 22 Aozt Q7| OAO|OF That is how life

is, one day it is success and the next day it is

[

failure

olMo|2t ExtM Moz JIE K Y= ZO|Ct Life

is full of uncertainties

1Al g0| doid AHetd HX| L | don't
see this price increase going through & | don't
see any problem F& X7} g8 A= E0



1 b2 HZo| ofln MMEXE Ch Lk
(B e ¥1 ZAE 97 BE of o 1
2L| LIS AN 1X| OHYAIRY) There is no

secret about its price in the world. | know it. You

Of

know it. Everyone knows it

LHE 1ARZ 710 7H40| QlstE Hels "ZEO|
AELICt There are some signs that the price

will be decreased in the 1st quarter next year

Cte =712 7t4 25t Z2 550(AM 102 AtO]
of HFE ZHUCE | guess next quarter's price

decrease remains between U$5 and U$10

g2 352 2dE MASHED, CHE 2R AE
= 258 Q&= HMAlst AZUCLE You are
offering 35$ increase, however, some guys are

offering 25% increase.

Mol Mets Me[shr| s W7t staxt of=
2 3¢ 7H42E2 uYz2|Xt= AYLICH What |
am trying to do is go right down the middle to

» on



handle your offer & What | am trying to do is
that... W7} 5l2{11 df= A2 that 0|5} YLICE.

What | am trying to say is that... L7} Z3}2
1 5= A2 that 0|5t RALICE go down 7t42
Li2|Ct, handle=deal with #&3}C}, X2|SICt

HOEX| WA S & == ASUI? What's your
best price? & What's your lowest price? XX &
OF7EX] WA of & = ASLIIe

22| S0A =S0| &= EtgdEE F40] g
of FHAI2 | want you to consider the

compromise that helps both of us

2 YTt M2 SEM JtHS Etgcta 4
FLICH | want to compromise on the price and
share the difference with you US$ 1 each (= The
price gap is US$ 2, so let's split US$ 1 each=The

price is US$ 2 apart, so let's meet in the middle)

MCHZ LiZt olsistn AKX =HQlsfET HEL

Cl Let me understand that=Let me confirm my



understanding

HAISH 74240] 42 &0f =2 XZYULICH Your

offer price is too high. It is killing me

HMAlSt 7tA0] {5 HIMLY, 7tH Xo|E S LAl
Cl Let’s narrow the price gap because your offer
is too high & close the gap =narrow the gap 7t
4, AXE FIL, fill the gap = bridge the gap
2t2, Axt2 ot

Mgt 7ol HES x| ZOof EUSLICH Let
me check whether the price you suggested is

workable & workable=feasible &< 7Jts3H
feasibility study EfEd ZA}

M oret Abet |

o
?lohM ol HES HEMSLICH To make sure

that | understand what you suggested, let me

S U7t MOE ofsisex] elsty]
X

ask you this question

Eo6{0F & 0| HF FLICt There is a big gap

to be narrowed



S0| 7tA0| LEM F7t 0|90[d, &7} &3 2

= QL7 If the paper price rises, who benefits

and who loses?

S HEMMZZE MAle 7t4) EtedEE &
oM EELCH | would like to compromise in

the middle

sd F7[He=z O ota A1 o Zeh F0j
XolL 744 2olg A-LICH | am buying it on a
regular basis and loyal buyer, so | am asking for a
discount & on a regular basis J7|H2Z. |oyal
A SHARR, ask for something FAS 2

T-OtLf

EFe OfF FOU 71H0| LS HIMLICH The

quality is quite good but the price is too

expensive



3717 g2i0F @ 1 45 W

74 Hiies  AT[FAICH  Llet's put  price
negotiation on ice (F) put something/someone
on ice 1) 70| Cfgt ds =X|E H7|SICH 2)
Tt £285t= AS EF/OICH (F2) ice 2F &
TS50l X3 M0l RETH B2 break the ice
ME T ME Mo 22718 =20 (of])
Let's break the ice by playing the game 22| #|
ol SIHA MEAMESE B22|7|E MEEH EX}

714 BHoM R2l= ¢ dadE FARORD
o MZESELICE | think we have built up enough
consistency in pricing & build up ™ A|Z|Ct 7Y
2SICH=develop) consistent A|Z LEtE, =HS}
=, O] ZA°| YAE consistency, 2|11 constant
HX @fe, €780 O|AS| FHALE constancy, &
consistant 22 consistancy 2tE THojE QoM
=2 "X &7 Ao X L=

7t 50| tigh dss o E oHXl= XRoHA|
o HEE JtAds FHe o St 2



2 7t4450| AE EUELE | am not good at
forecasting the price increase next year, but |
think at least price increase trend will be the
same as this year & be good at something +

g zsiCh

A= =2
77 Qe wrol AF 40| #HEE HAUY
Cl The price hike is the reflection of current
market  situation & price increase=price
rise=price hike 7t4 Q&
tA2 XL =8 W2ls siM LEK s

LIC}t The price will always fluctuate up and down

7424

mjo
AL

E|

how low | can go

o

AZF Q&LLCH | am limited to

rir

=x
T

\J

S 230 Aus SHEEH A2 A fIet B
=2t OX|7t o= As 2A & AYUC If
you look at the price and you do some math,
you can see we have some room to deal with &

h
do math=do mathematics Al ASICH =3t ZE23}



Ct, room to deal with H2iE = U&= K|

7t40] 2D UEL|CE The price is going up
(%) The price is going down 7tZA0| L{2[1 QU
L

20| MIAl DHAXN RUA2L| ZHAL HC HIMA Oj
7{0F LTt Our product is under-priced, so we

have to overprice it

az4e G| fsks Tt} L7t fstks 7t
o F2ULICHARL Bl BAICH It is in the

L
middle of what you want and what | want

718 0l 70 7HA| SREUCL d2iM, L=
tAg =22 =+ 0l =L Oil price has gone
up to U$70. So, | have no choice but to increase
my price (F) go up(down) 7+Z0| QECHLYZ|C})
(F2) Low 70s Y At= O[SH710(A 74= 7IHA])
High 70s: 76= O|&(760 A 79& 7tX|) Early 70s:
70ALCH Z=Ht



b T ==50|2te 7HA0| SR o= HfHY
ki

LICH | am just hoping for some kind of price

i3
Nl
o

increase & | am hoping $Xf THS

UXZ LiEt

as | know, everyone is going up U$35/ton, and |
haven't heard anyone say anything other than
that. That's why | stick to $35 increase & other
than=except A|2|St1, That's why.. J2{¢t O|&

2 ..0|LC}, stick to something A2 1D45ICt

O £2 =ds A €2 7140 S=0102 ot=

ZALI77k? Why should we supply the product with

better quality with the same price?

HI# 2t2 Oi¢l 2 OFEL|CE | did not overprice it

& overprice H|¥ Zf= Of7|Ct



o & 714&8 4514 U772 How much do
you want to pay for it? =How much are you
willing to pay for it? = How much are you

looking at? =What price range do you have in

mind?
748 23 FHAL 38H LE W 714S
=& E2[FELICE You tell me your price, and |

will tell you mine & You show me your hidden
card, and | will show you mine @419 71 7}
EE ROFH U BAHFHSLIC

T 7H4E 28 + o |lEUCH eHLfstH
2 7tA0| X1 A7| HEYLICE We have no
choice but to increase our price because oil Price
is shooting up & shoot up dt= =0| X[Z&C}

=/tas OftCt

ol EB{E€ O &= =& UAMUKAT LoA= LA

= U
7t SgsiFor & HE £HS0l UASFLICEH |

mjo

could have gotten U$20 more but | have regular

customers that I've got to supply & could have



PP: Z=2E 0= LEZEX|TE CHA] oF & =X| HiE

gojzlstoe ot B I 5 A= FO
S4S0| 2k 23 4 S 21 ALEOIH,

2oy
L

M AR (WA AMMO| BHCE|E 7S Lt

Et'dl) OlCt

ZAL: If F0f had PP(HEA, F0f should(E

could, would, might) have PP(Zt7 & A})

0ll1) should have PP(3! 21 0{OF 3H0O{): If you had
told me, | should have left her(d|7} L}$tEf| Off

7|MctH, o 24 S mLpopRk A o])

2

02) could have PP(& F& A2AO0{): If | had
known it, | could have done it (L§7} ¥ 4C{2tH,

L7t 3 €S & + = A/A0)



0f3) would have PP(R{ 2 7{Of): If | had been
you, | would have done the same thing (L7}

L{QICHH, LIE £ Z2 A2 [UAS 7o)

0l4) might have pp (RUSXIE =2}): If we
had been only 5 minutes late, we might have
missed the bus(5&% =RUCHH, 2l HAE

ENEXNE 22}

gxtel dgcE £ M, ofF B2 AMES0| 24
SoUME 595 7PdE A= 24
ojZ{¢lstn A=, &71 471 2L L9lFH H
& ofgiE A glch A8 BlEs OFF =8, 7=

Fall o
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2 ZZ) Our previous increases were cost
recovery increases. The price increase we are
implementing reflects our need to survive
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